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JE BEHERT = 44, 473, 028
EHET = 61, 348
AL T =Y 61, 348
SEEET = 10, 687, 500
BIHIA - =14 T = 10, 687, 500 | BIEIA—n" -1 4 3, 000 m2
(BIHIA-" =V AA)
TemPA N —J@ Be2E4 0 O EAs Bhill
1 (20) DS3000 ;
HOE i (mm gIE) 150 m3
TAT7IV NS
RISy 150 m3
TA77 b (2. 00t/m3) ;
HEKHEY) T Y 2,331, 920
(== Y 146, 920
Pk T Y 2,185,000 |fitHEK 100 m
(TH-1-1)
HIE 240mm W& 240mm ;
BT T = 9,271, 000
ERARI I AT T = 7,863,000 |# =} V- 300 m
Gr-A-4E sc@ids 100mLh F dh#REA IEE
B = V= 300 m
Gr-B—4E Bidt 100mPh F dhARE A IERE
5 (-4l T = 1, 408, 000 | H=7% (REKT) B (AT 100 m
PFE H=1. Im +HEGA WG SBlBE
X T = 2, 044, 320
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X [ L = 1 2,044,320 | PARLZ X i 2,000 m
W FE) R 15em A 1 Smm HEAKMESH
5h
a2 X R 800 m
R FE) AR 15em A 1. Smm HEAKMESH
5h
e il = X R 600 m
Wt =CFE) ¥° 777 45cm A JEL Smm HEAKME
EiES
A AV X R 2,000 m
N AP AR JERR 15em B INEL
HEAT B MR T = 1 11, 309, 600
EATEY L 2 1 11, 309, 600 | AR5 EIE 100 %N
A B5EER ¢ 100 AERE ¢ 60.5 HHRENA &
Bl 30RLL L
TR A 100 %N
A=K VPR BAEEMY Wi ¢ 100 LHELA S
4 304LL | ;
By A 300 A
¢ 80 HB50 A =% ¢ 250 w282 (ZR AL 1AH)
30ALL E
1 BB Eas )=} 100 m
15 W=500 t=7cm ;
IR = 1 345, 600
fliAE T = 1 345,600 |HEEwyb 100 m2
KAy b T 250m2AT0 ;
MRE T = 1 579, 360
JERE PR T = 1 579,360 |fREr 2, 000 m2
T BEkOvE bR
(233 1, 000 m2
JE N T R BEOVE B
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FE 3, 000 m2
FEIAE R 3, 000 m2
BRIEALSY 10 t
HEYE T 529, 380
HEETE LT 288,810 | v/)- MRS L 30 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 240, 570 | BoE 30 m3
/)Y - hik (AT
RISy 30 m3
/) - bk BEA%)
A Y 7,313, 000
B EHT = 7,313, 000
[ERAE Xy = 44, 473, 028
HiE 2 = 5, 666, 800
BISTIGE: = 565, 800
Bl s X 58,800 | iH ik KaAT 4 1ERLE: 1 =
BGRESCGES (5 1) = 507, 000
B (FEHL) = 5,101, 000
T = 50, 139, 828
Bl gy = 22, 751, 000
T =5l = 72, 890, 828
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— R A = 12,969, 172
T =AM = 85, 860, 000
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